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Rolle’s Theorem, Page 290

Given a function that is:

1. Continuous on a closed interval [a,b]

2. Differentiable on an open interval (a,b)

3. f(a)=f(b) – end points have same value, slope of line is zero

Then f’(c)=0.

There will be at least one point for which the slope of the tangent line is zero (a horizontal line).

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


The Mean Value Theorem, Page 291

This is a variation of Rolle’s Theorem. Given a function thiat is:

1. Continuous on a closed interval [a,b]

2. Differentiable on an open interval (a,b)

There will be at least one point for which the slope of the tangent line is equal to the slope of the secant line through the points (a, f(a)) and (b, f(b)).

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	



